ES5 1RPEMR/MNER Y Y H—KE
18BH (6.29) Y—/847T0vy

Ad—FbFk (AIZB : IREHEM) IB:—F(AIEB:%EM)
8:20~  HZEJN 1 — 8 = /)8 C KERMN 4 0 EI/
9 : 00~ Kb/ 8 — O &8 Hh/h i g2®E/N 0 — 3 & E /N
9 :40~ !

10: 20~ HE/HN O — 5 K/ D KER/N 9 — 0 FIF
11:00~ BN 7 — O 8 #h ; Bi/nN 1 — 4 7% E /N
XATOYID 14 TN L %BJOwA O KERN

2 4+ K/ ; 24 BEN

Ca—Fk (AIZA : BB iD:—h(ADiA:WEEE%)
8:20~ HAMN O — 3 B . XEEMN 1 — 0  BEMN
9 : 00~ BE/NMN O — 3 JFH/p i mEFR/N 5 — O EZHE/ND
9 :40~ E

10: 20~ HEARK/N 1 — 5 FER/IN | XKHERE/N 3 — 2 e IR/
11:00~ w/h 0O — 3 JEHD ; BmE/N 2 — O RHR/D
XCIOysm1 L Sk . XDJOvs D1 KEEN

21 : BIR/D g 2 fi : HER A

2HHBH (7/6) RBBrF—FADFDE

D#ERRE 8 : 20~ B/HA10 — O HE

DFERLRE 8 : 20~ KERMDM 2 — 0 WHRND

Q%R 8: 50~ =/ 0 — 1 % 1L /h

Q#ERRPFE 8 : 50~ XHEN 3 — 1 B E )N

Q # R B 9 : 50~ BhNO1 — 2 KERB/ND

QR 9 : 50~ K/ 3 — 1 KHEE/NMD

@R B 10:50~ KERBN 4 — 1 TR

AEHER

2 MAERERTIKXKERB/DERKR EE &R BN (—)) KERRKKREAILE XSS

EER MAEHBERETILIRLUNER EE WiE B ()

F 3 KHEAEBEMIKHRERNMNEKR EE ik B (&)

F 3 MWMAERMIERNER BEE FEEKXE (H)

F£8i MAEBEHMIER/PER

Hofi AEEMITHRNER

F 8L MAERERMIEH/NER

FE 8 MAEERERMILIFTENER



